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Summative Assessment
	A.	 Define.	 			   (2 x 2 = 4M)

		  1)	 Veto

			  ______________________________________________________________________________

			  ______________________________________________________________________________

		  2)	 Panchsheel

			  ______________________________________________________________________________

			  ______________________________________________________________________________

	B.	 Answer the following questions.	 		  (3 x 1 = 3M)

		  1)	 What is the role of WHO ?

		  ______________________________________________________________________________

		  ______________________________________________________________________________

		  2)	 Why was the NAM formed ?

		  ______________________________________________________________________________

		  ______________________________________________________________________________

		  3)	 What led to the world wars ?

		  ______________________________________________________________________________

		  ______________________________________________________________________________
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	 C.	 Fill in the blanks with suitable words given below.	 (4 x 1 = 4M)

		              USA            Sepoys            15             brain-child		

		  1)	 The ICJ consists of ____________________________ judges.

		  2)	 The ___________________________ dropped the atom bomb on Hiroshima and Nagasaki.

		  3)	 THe revolt of 1857 was started by the _____________________________

		  4)	 Non-alignment was the ___________________________ of Pt. Nehru.

	D.	 Write ‘T’ for true ‘F’ for false statements.		 (5 x 1 = 5M)

		  1)	 The USA did not join the first world war.	 [	 ]

		  2)	 India was in favour of racial discrimination.	 [	 ]	

		  3)	 The Portuguese dealt in spices as it made meat Tastier.	 [	 ]

		  4)	 General Assembly meets twice in a year.	 [	 ]

		  5)	 Basic Principle of NAM are also known as Panchsheel.	 [	 ]	

	 E.	 Multiple Choice Questions. Tick ( 3 ) the correct option.	 		  (4 x 1 = 4M)

		  1)	 The Revolt of 1857 is also known as

				    a)  Quit India Movement		  b)  Civil Disobedience Movement

				    c)  Non-cooperation Movement	 d)  First war of Independence

		  2)	 The world war - 1 broke out in 

				    a)  1913		 b)  1914	 c)  1916	 d)  None of these

		  3)	 The Battle of plassey took place in

				    a)  1757		 b) 1857	 c)  1783	 d)  1764

		  4)	 The USSR collapsed in

				    a)  1990		 b) 1991	 c)  1994	 d)  1999

	 F.	 Match the following.			   (5 x 1 = 5M)

		  1)	 ICJ		  a)	 Geneva

		  2)	 UNICEF		  b)	 Paris

		  3)	 WHO		  c)	 Hague

		  4)	 UNESCO	 d)	 Rome

		  5)	 FAO		  e)	 New York
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